] Sanatan Dharma

8 TABT = dvoo AT

JIF IF -> I AALAIT -> W JAF

0 999 93 -> FIIAATY

S 95T = wyoo ATITAT (9+L+0+0 = O+b = )

38 TA45T = bu8oo FIFIAT (b+L+8+040= dSh= dS+b= 3)

vo wfqd = 2¢,5%,000 ATF(AT (+C+5+3+040+40 = Sb = d+b= B)

35 TTIF = 9,5),08,000 ATIFIAT (V+d5+d+0+8+0+0+0 = 3)

0 = 9box = 04+b+o= 5 ( 4G 474 J©© vvox 3T)

B = vbox= w+b+o= 5 { AIFOIIGI FCI4TH AIT Sox-> HIFGT FrIatx NIF
(S0o+d50+50+50)0vox }

O= dbox= S+b+o= 5 {AFOICIGl FCII4TT AT wox -> SfAGf dCIdTa A7
(Yo+bo+wvo) dhrox }

0 = Sbox= d+b+o= 5 {AFOIIFGT FCII4TT AT vox -> BIGF FTIdT3 FI7
(9vo+vo+vo+vo+vo+9o) dShrox }

o -> wfgizry I3gA

S -> fFgef

> -> A7 Ifer=

HITATT F3fTIe 5 eA7 INIRTU

8 ATFCAT = 5> A (> FITHITH+ A 14 I1)

s I35 = se¢ AFd

vo N5 = Soo S FTY

8 WAGT = Idvoo AFTY
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